24

7/26 7/27

(m)

1 2H1Sv 10
0.08paSv/h

2 1Sy 1.2
0.04paSv/h

3 2HSv 10
0.08paSv/h

4 2H1Sv 10
0.08paSv/h

5 1Sy 11
0.04paSv/h

6 2H1Sv 10
0.08paSv/h

7 ZHS 11
0.08paSv/h

8 1Sy 10
0.04paSv/h

9 3pSv 1.2
0.13paSv/h

10 2HSv 15
0.08paSv/h

11 2H1Sv 0.8
0.08paSv/h

12 THSv 0.7
0.29paSv/h

13 2H1Sy 1.2
0.08paSv/h

14 2H1Sv 10
0.08paSv/h

15 3pSv 10
0.13pSv/h

16 3pSv 11
0.13pSv/h

17 3pSv 14
0.13pSv/h

18 3pSv 10
0.13pSv/h

19 1Sy 10

0.04paSv/h




24

7/26 7/27

(m)

20 1psv 12
0.04paSv/h

2 2143V 12
0.08paSv/h

2 213V 12
0.08paSv/h

2 1psv 1.0
0.04paSv/h

2 213V 1.0
0.08paSv/h

2 213V 12
0.08paSv/h

% 1psv 1.0
0.04paSv/h

27 2HSy 10
0.08paSv/h

2 213V 11
0.08paSv/h

2 213V 08
0.08paSv/h

20 213V 1.0
0.08paSv/h

31 1psv 13
0.04paSv/h

2 213V 16
0.08paSv/h

2 1psv 1.0
0.04paSv/h

34 1psSv 09
0.04paSv/h

3 213V 11
0.08paSv/h

3 213V 18
0.08paSv/h

37 1Sy 12
0.04paSv/h

38 213V 1.0
0.08paSv/h

29 213V 1.0
0.08paSv/h

40 213V 1.0

0.08paSv/h




24

7/26 7/27
(m)
n 2Sv 10
0.08paSv/h
1 2Sv 11
0.08paSv/h
1 2Sv 10
0.08paSv/h
” 2HSy 10
0.08paSv/h
15 2Sv 13
0.08paSv/h
16 1pasv 10
0.04paSv/h
7 2HSy 11
0.08paSv/h
18 2Sv 14
0.08paSv/h
49 1pasv 11
0.04paSv/h
50 2Sv 0.9
0.08paSv/h
51 2Sv 10
0.08paSv/h
52 1pasv 11
0.04paSv/h
53 2Sv 10
0.08paSv/h
54 2Sv 11
0.08paSv/h
14 24
14 24
2011 7 1
2011 7 1
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